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L. Do not write your school or district name : |
anywhere on this paper. Qn.Ne, | Marks | EXR'S NO.
2. This paper has two sections: A snd B. 1-5
Seclion A has 20 questions and Seetion B
has 12 questions. The paperhas 8 6-10
printed pages altogether.
3. Answer all questions, All the working for | 11-15 . \
bath sections A and B must be shown in 16-20
the spaces provided.
4. All working must be done using & blue 21-22
or back ball point pen or ink. Any work
done in pencil other than graphs and -4 l
diagrams will not be marked. " 25-6 \
5 No caleulators are allowed in the :
examination room. ! 27-28 ik 1
6. Unnccessary changes in your work and 79 30
handwriting that cannot easily be read may | ;
lead to loss of marks. 31-32 _
7. Donot fill anything in the table indicated: ol
“For Examiners’ use only” and boxes | TOTAL
inside the question paper.
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SECTION A : 40 MARKS
Answer all guestions in this section, ,|
Question 1 to 20 carry two marks each. |

| L Workour: 7 2, Describe the un- s-lmdedmgimmlh&‘wm
| g R diagram below

3. Expend 1048 using powers of ten. 4,

3. Calculate the lcast number when divided 6,
hriﬂurlﬂlmm?asnmmam&r

i



13,

17.

| o

Culculate the average lemperature 12

recorded on the graph below,
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LF 80 trees were planted 20 metres upart 14,
along side a straight road, what distance
wis covered?

Using 4 ruler, p pencil and a pair of 16
Cﬂf}ﬂpaﬁsﬁs only, construct an angle of
45" in the space provided below.

Tap K takes 4 minutes to fill 2 tank 18.

while tap M takes 5 minutes 1o draw the
same water from the tank. How many
minutes will it take to fill the tank if both
+taps are opened at the same time?

Tf today is Thursday, what day of the 20,

week will it be 80 days [rom today?

Tom bought a dozen of pens at Shs, 500
per pen and paid the note shown below.
Find his change.

Subtract:

101 Ope

i

Abdul borrowed Shs 1000,0600 a1 an
intercat vate of 10% per yoar for three
months, How much did he pay back? ‘

Solve for[1: 201—3=15

Waork out the total distence round the Ggure
belaw.
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~ SECTIONB :60 MARKS. .
Answer all questions in this section,
M,@rm&mmmmmmmm

21. The exchange raies ic Uganda shillings athcemfam bmmn are as belo

Currency Buying Uganda Shillings
1 USDollar () Ug Shs, 3870 .
1 Kenya Shilling (K Sh)  |Ug Shs. 120 i "

(@ How much will Andrew get in Uganda shilkings if e has 300 US dolla

(b)  Ifjoun has 193,500 Kenya -
forex bureau? Sl



i oAl SR

23, fjumo Junior has S0 pupils, 16 of them eat fish only (F), (t + 8) eat meat (M), 8 eat
and meat while t eat nither of the two foods. S
fa)  Use the sbove information to complete the Venn diagram below. (2 marky)




27.

20,

Oul of Mukusa's catile, 30% are caives, 5% are cows whiie the rest are bulis.
(s)  What percentage of cattle arc bulis? (2 marks)

% A

(b)  Ifhe had 480 heads of cattle,  (¢) Decrease Mukasa’s heads of cattle
harw many cows does he have? by 25%. (2 marks)

(2 marks)

The figure below shows a sitting room covered with a carpet luwlﬂgaspnwuﬂrbwm |

on either side of the wall.

26 Arectangular unk holds 168 s ofmilk whea full.

ta)




Dpie-chart below shows the number of pupih;nt Bukede P/S. Use il to answer the

Yuestions that follow. i : : :
(a) Solve for the value of n in degrees.
' - (2marks)

) Fthere ace 160 pupilsin Lower Priary, how many pupls ae i the school

e —— L o




%I.

32

(a)

(b]

(a)
(i

Find the solution set for &: 6 <3z <12 (2 marks)
Calculate the distance round the fhigure below. (3 ﬂﬂr"ihf
Wi
¥ o T(3+y)dm
Ty i
(2y —4)dm =

From the graph below, state the co-ordinates for points A and B.
A

(1 mark)
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F.7 MATHS MARKING GUIDE PRE-PLE SEL L, 2022

S/N |SOLUTION MRKS |COMMENTS S/N |SOLUTION MRKS | COMMENTS
l. i 11 A verage = Total
X3 : Humber af dem 5 .t
H B Far 21 = 10% + hmm.m::.mhn_.m_n ._.ln_rhm_t.h. ' | M1 For correct addition
2. | xuyy B For C.AD = 150"
3. | 1648 =(1 x [0~ (0 x 107 + =3l A For 30
{4 x 107+ (8 x 107" B, For correct expansion
: el i Cost of pens = 12 pens x Shs. 500
4. Sinty 4_._%_.:.&5"# = +_n._..__.a__..5 " s -H_ : _unﬁil. m%mm €000 i For Shs. 6000
ineen = el M, E { Change = Shs. | — Shs
. |a§$| A, For 60,013 i B = Shs. 4000 B For Shs. 4000
S| TCMGIZ 201 13, [ S edumes e M For comect method
p = —- M i : I
B '] = T x 20 metres
15 13 = | 580 metres Ay For 1580 metres
2 .”. ;__.I B For prime factorization 14, 101 0. :
= : ; —] 11 M For eorrect subtraiion
TisxaxIx2x2)47 R i i R For 1l
= 187 texi books By For 187 texthooks 15,
6. %i_.ﬁ_n?:_
lw_._“__“:.:_ C For scourats ancs
=| x2¥ i i propecty
H ™ R oling o I A For identifying angle 45"
= A, For 7 1 ¥
v S:ldpm= 5:15
kL M, For correct addition
1 1S Ay For 171 5hours 16. mqim.wrmﬂ_#.ﬂ.
O i e " .
o, M For removing brackets = Shs. 25,000 By For Shs, 25,000
it Al Fort+ 1 }sﬁum_pn_#”ﬁ”ﬁfﬁbs E Fo m_#:“ﬂsu
3 MNumerg] = 104 17 Tap K tuke 4 : : q +
) L By For 104 i - i
- CTV B, Far CIV Tap M take 5 qu:.unnlw_.
10. Fﬂﬁﬂrpﬁﬁum|m.uu|a M, For correet method
B, For correct sketch H.mu!nnrusu._.rw.:
I x NT
Direction = Worth West For Morth West ; = 20 minuwles Ay For 20 minules




ot il
. — P T MMENTS
SN |SoLUTION MRKS |COMMENTS S/N |SOLUTION 4 i
18. | 2[1—3=15 i y 23. | (&) a(E)= 50 i
21 —343=15+3 Ml Fur collection of lile terms L F
[T By or i
_H_u_. G.H.m. A H.u.ﬁ_-ln—ﬂ |
19, | Themsday =4 §f 7
i M.. + Bl = 7 {Finite T} i, For correct method B, For 16
(B4 + T) =¥ (finite 7
= 12 remainder 0
= Sunday A For 0 = Sunday
20 Distance uaw.:n.. +0 :
=1xM2x Mm+ tam M For correet method (6] mu_ _,”.1 h.m___“.__..__ =30 . S
-l __“ - 30 T4 M, For forming equation
=27m* 14m - E]
= l6m A For 36m W -
SECTH B =1 Ay Fort=13
21, [(a) 1US dollar coss Ug Shs, 3870 (c) Probabiliy = EQC
IBOUS dollars cost Prohability =
Ug Shy. 3870 x 300 e For comect .n:._..__m._ u.m“u
= g Bhs. 1,161,000 Ay For Ug Shs, 1,16 ‘mxx.:u H..u#* By _—u.uh..hmwm."
{h) | shilling costs Ug Sha. 120 us
193500 Keaya Shillings cost 24. | (=) Time= 12:30
120 % 193500 — 3. L
= Lig Shs, 23,220,000 By For U She. 23,220,000 .
I US dollar costs Ug Shs. 3870 First distance = x Time
2US dollars cost Uy Shs 25226600 | M, |For comect division x %2
S8 . = 120km By For 120km
= 6000 US dollars |A For 6000 US dollars Second distance H.
n“m = X lime
. ¥ % 3hrs
22 |{a) () y=2x2x3x5 _ =120km B, For 120km
¥ =60 B, Fary = 60 Total distance =120km + 120km 5 -
(i) H”rmh Ww p=90 _
jr (b) Average specd = ﬁm_
p=35 B, Forp=35 e e
(b) GCF=2x3x35 mﬁw__cﬁ : N
= i B, For 30 = ﬁwa
(e) LOM=2x3x3x5x2 = 40km/hr .@!mﬂg
=18x 10 M: For correct multiplying
= 1840 A For 180

e ——
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SOLYTION

2

i

M,

Ag -

e forming cquation

For =350

o

mW Forp= 130

S b B et

{in coversd ares = mww_.“ﬁ — 150m°

A0 ._____i___:..MM 1 litre = [008an” |
. 168l = 168 x 16Hem
“hdooem

{5) Velume=1L 3 W xh

e

(bi Cows ;ﬁ%ﬂi
. = | - *®

= 164 ot

d_.n,_.ﬁ -...._hﬂ.&.uﬂ_n _n..-..na._.:n
i XL

hﬂﬂ%uun.

- 350 heads of cattle

@

For forming euustion
Far 15%

For carrect metaod
Far 264 cows

[ For 360 heads ol cattle

Tk = Zime— (3 + 3m)
= 2 L m — G
= [5m

Width = == (3= 1m)
m_._mwu ém

=Lx W
uﬁ&nﬁ.ﬁ&inﬂﬂ. .._._E.,.;.EE

= |5tm’

the roam = L x W
M = 31m X 16m
= 336m

i o
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s [SOLUTION

/ {CCURATE TRIANGLE

p———g——T
Ivirks |C :ﬁz_}..:; YN
__

| 4

SOLUTION

_ |

GifA . i
o L For base BF = Tem
= i
__ __ N __x |
__ \ / _
/ | LA
/ rw.m.”x\\ sai _r__ For length FG = 6em
J _ :f:ww_.\x
_
) \\ i :
ym,_ Cy For accurate angle 120
_ 1ho
Tem f
{ty EG=11.5cm .n.m.h.. —{ For 11.5cm {#{. | km
: (1) 6<ia<12
b.,hﬁ .ﬁ. _ ! P
_ - - i M For cormect 5o
2<x=4 ; o
Fore=1{1.0,1,2,3}
={1,0,1,2,3} A Fa {
M (2y —4dm=3 + )
w ﬂn_,.. Rt B, Fory = 7dm
¥ = i) ! i
_ Side =3+ y=3+7=1ldm By For 10
_7 Distance = 4L
: “,w;___”EE B For 40dm
< L.
_

.?_-‘ﬁ:—_r.u -..1.-.._1_.1-“!:.._...- -
B, or A (3. 3)
32. fa) (i} A(3. 1) By For A(
(i) B3, 0) B, For B (3, 0)
() |M
p ﬁ (0, 8)
ﬁ "
P For plotling C (4, '5)
< 5% |
P 1 P, For plotting D (0, 3)
F -
3
i
4
b
4, [5)
(e ) Joining all points




